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Part a See attached Matlab code for calculation details. The data for the bilayer is indeed

seen to fall off like the Fresnel reflectivity for Pd (see Fig 1. The elements of the 2x2
transfer matrix for the interface at z; ;4 are developed as:
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Rearranging into a matrix equation, we can write |a; b;| = |ajy1  biy1] AT where
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Part b The data is left unormalized.
Part ¢ The optimal ¢ is visually found to be ~ 4.1

Part d The optimal values for tpg and tc, to be 199A and 58A, respectively. Admittedly,
I searched a little beyond 10% for Atc, but it seemed to have a favorable result.
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Figure 1: Plots of the calculated reflectivities vs measured data.



